OFQLi0

ol 1 CM? alg) abiio gebias 9 3,305 51,5 gebaas 3 53 JKb U algd G5 bgd 53 0ga ¢ 1y JSib 5
buoco (slgh HUid .dus y 00 15 CM &3 dius 3,0 53 g Ui 5l 9 230 pma 0302 21 CMP algl 5L 3,5

Tl 09a> o (Sl x>
(39 uB b b gl J515 slsa slao)

*

‘¥

)U.é.dilf‘.\}_ubsé)éN 3.\1 )L..ka bw@a)ﬁspuddsjgé,bsé)aoﬁ 6}25)5))5';‘3?“5@“)%"\;‘3‘@&“&}’6'}?
D9 0 dawlxe CIl> 12 j0 gl j0 00l waaxo Slep

53 C-

h' = Yiem :(ou a3Lsl goun £l )

():Py =Py = Pg, =P,

(Y): Py =Py b gl PGy +pgh”" =P, +pgh’ = P, +#7emHg =P, +YiemHg = Pg =P, +)ocmHg

PV, _PyVy =Ty
T - T; ! Gl Lod

G Jgo Slass oyaile culi 4 a5 b) = > P,x(Axh,)=(P,+18)x(Axhy)
P, x\A=(P,+10)x\d0 = YP,=YYd = P, =vocmHg

b oo sl YICM 0 £l .,_;,T J2 0 090> Yiem" L TRyt yem" o abaio pdaw aSCol 4y 4z g5 b
V=Ah = YY=\'xh = h=Y\cm



